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size at +ime ‘t) and Suppose X(O):L,
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So since M(t) = E[X(t)])



To obtain He constant K, we use He
fact that



Exqmrle #¢.S (M/M/i Queueinj MDJQ,):
_SWFFose_ customers arrive at a Slnjle""
Server stahion Ou(‘.corolu'nj +o a Peisson
process with  rate A T +He server
'S “V“il“"‘le, the customer is served
fmme_aliad’eiy. O-l—Le_rwa"se, he waits in
He queue (line) . Customers tn 4he
iueue are S&rveol In ovrder mC 'H\e.fr
qrrivod. T‘r\e Service ‘Hmes are. e_xTor\enyaLl

u)wH,\ rate }1

~Let X(¢) denste the number oF
customers i He sys-l-vem at thme T.




- Then X({) 1s

_Tkis iS an M/M/l Ct'ueue.inj SYS‘I‘QM‘.
First:
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T\m‘ra\ :

-Consider an M/M/S clueuel'nj SYS'I’&M
(same Qi'lua:h‘an) but with & gervers):



— Other a(ue.utinj Systems are M/G/1
G/M[L, ete. The "G destes /¢
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Times Unhl Transithons |
-‘CDV\Q\‘A&(— o birth Q.V\ol dea:H/\ process
wf'HA rates s‘L)\nE and i}-lnz. LeT TL
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) that it fnkes 1o reach state i+l
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For L>O/ conditon on He resul+
of the First transition:-

Let Ll =

-Note +the +ime unth'| +Hie L '
‘ Y + n l'Hon
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So

EX“’“Plﬁ (M/M/l) Consider +he M/M/i
| ctueu?-m.j Moale., with A= 4.0 au«_al
M= 1.5 per hour. F r\ol 'H«e, e-Xrecf‘eA ‘Hme

‘o g0 from 2 customere i the
system fo 5§ customers jn He System.

- Note +his is:
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